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& o k& b 4V GROSS HDCP NET
B B EE =M 36 36 72 3.6 68.4 BG
B EH BE 43 43 86 15.6 70.4
3 MEE R 37 42 79 8.4 706
M RE ER 40 47 87 15.6 71.4
bt +B Ew— 44 46 90 18.0 72.0
6 At Hk 44 39 83 10.8 72.2
T R W 50 45 95 22.8 72.2
% BE 53 42 95 22.8 72.2
o 25 B 47 52 99 26.4 72.6
106 A 1T 42 43 85 12.0 73.0
16 B 15 45 52 97 24.0 73.0
1260 B #LF 48 54 102 28.8 73.2
136 KA HE 42 46 88 14.4 73.6
1461 Bl BLF| 38 43 81 7.2 73.8
1561 &ith EF 50 48 98 24.0 74.0
166 INE EE 50 41 91 16.8 74.2
176 8 £— 42 48 90 15.6 74.4
1861 NS TERE 45 51 96 21.6 74.4
186 AT HB 51 45 96 21.6 74.4
186 mA BT 46 50 96 21.6 74.4
210 +B HEx 48 46 94 19.2 74.8
20 B EH 42 45 87 12.0 75.0
234 KHF WX 42 43 85 0.6 754
244 &Il 46 51 97 21.6 75.4
254 5% - 46 43 89 13.2 75.8
264 5% E# 46 49 95 19.2 75.8
21 B EfE 45 48 93 16.8 76.2
2861 EB A2 50 49 99 22.8 76.2
201 #F B 48 44 92 15.6 76.4
304z BE  1E8A 50 48 98 21.6 76.4
0 B B 49 49 98 21.6 76.4
324 IME B 44 50 94 15.6 78 4
334y fEH Bz 50 43 93 14.4 78.6
344y SEHY  FEE 49 42 91 12.0 79.0
35 /A B=E 55 54 109 30.0 79.0
36l SE S 43 47 90 10.8 79.2
3 FB ER 46 56 102 22.8 79.2
384 fRIF E 51 57 108 28.8 79.2
30 B E 57 57 114 34.8 79.2
08 5% Ez 46 49 95 15.6 79.4
M S BB 45 43 88 8.4 79.6
420 KA BA 47 47 94 14.4 79.6
434 £ H A 45 52 97 15.6 81.4
AT BRE B 58 56 114 31.2 82.8
454 N EH 60 60 120 36.0 84.0 BB
461 WE IER 49 66 115 28.8 86.2



